ST AR
i BIR e 23T

M
1
Jk
S
o
-
iy

FARITT e

) = G R

b SO | I i



T fE fil gl i H HAL L B & | W
kT
BEHGEER R T vy o
ES CHE m 3.2
a7 UV—bhiEDD m 1
HiEmE D bl A A m 0.1
CORIE 1.=2. 5km m 1
CORRILSY 2R B i t 1
+T
S A O LAY 5 m 16
T w i L=1. 7Tkm m 16
BHAE T
N i 56
A E FE)79v4-77 ¢ 40 t=15cm m 56
AR T BT 9v4=77 ¢ 40 t=10cm m 56
FJE T AHBZEASTS  t=3cm m 56
Bt T
EERR Ty |CFE W - BAXAT) m 3
oy Y — bNVREEEY) KBRS, AR S A m 1
ARV 25 R T 5 #3007 e 12
=R AT Gp—Cp—2E (+r1z0) m 14
Ot i 13
EEREET
kR T = 1
SRR i BB 15




*r = = =
B =it EE 24752 4
WET
L
HSEEEE R T oy 72 (CFE) 3.2 = 3.2 m
L W
=N Esel)) 3.2 % 0.3 = 1.0 m2
L W H
S0z U (FaAstE) 3.2 % 0.15 * 0.18 = 0.1 m3
Cfa e Pk
CO(E #n)iEME  L=2.5km 0.2 + 0.1 = 0.3 m3
CO (2B i) JLsy 0.3 * 2.45 = 0.7 t
+T
EHAEA h
PEHI 56.1 * 0.28 = 15.7 m3
- Ah T L=1.7km 15.7 = 15.7 m3
Gk
L W L W A
ARSI AR 8.0 * 2.00 + 25.0 * 150 + 2.6 = 56.1 m2
Bty 1
L
SHEEER T 0y 7k E (CFE) 3.0 (A EY) T 24, 3 AFB3AN) = 3.0 m
a7 — M INIREEY) (N T1FTR% KBS SRR ALER . AR HEBE 0. 2m + A A L. 6m = 1 m3
N
COZ%E (HrE3007) 1.=0.5m 12 = 12 #
L
H—R 347 (Gp-Cp—2E) 14 = 140 m
L W
17— AR 6.5 * 2.00 = 13.0 m2
ER=X G aN
AR RSB BB 15 = 15 A




